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Instruction : Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

ugdl - I/ PART -1
(PG UTEeT : 20 x 1 =20) / (Marks : 20 x 1 =20)

efliy [ Note: i) Sjoeidg elaméae@nsen el wafléaayb.

Answer all the questions.

ii) eflurer el ows Caibos®Es (WIS .

Choose and write the correct answer.
CuaGprad ePuiu@Eib QUIEsT QUED 2 LFHEs AyPLL 058 CaTeTEpd Criyid
4 eleoriy ETEONG), SBHEDT LDSHGD SHTID '
a) 4 alermg - b) 8 afleormg
c) 2 ealermg d) 16 ajlemmy.

In the oblique projection, a projectile reaches the maximum height in 4 seconds.
Its time of flight is

a) 4 second b) 8 second
c) 2 second ' d) 16 second.
2 eiTEmeon Cauliusslear G ;
“a)l o LIK - by, | Jkgi
o Jkgltk! Ay
The unit of latent heat is '
o R | _ L hp) A5 g kg
oh kg K d J
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3. SWwss & LGSR pifler Qargliblene

a) 100° C RO
c) 120° C - d -120°C.
The boiling point of water inside the pressure cooker is °
a) 100°C ' bl EOXE
c) 120° C - Ly d -120°C.
4. LoPsETERSEIGL QUL FIULSSHET SeTe
a) 0% b) 70%
c) 50% . . d) 100%.
In a rainy day. the relative humidity is '
a) 0% b)) 70%
c) 50% o d) 100%.
5. @O QTS HPST DB ..oevieeeennnn. STTHGITETE.
a) euemeney b (R) b) UJbusdler Qareeey (v )
c) OQurmpeflear Qsreea) (u ) d) eaus Qsroee) (f).
. Power of lens depends on the
a) Radius of curvature ( R ) b) Distance of an image (v.)
c) Distance of an object (u ) d) Focal length ( f).
6. WNeGeoimLggsben ( I ) Haraiwss Caupur @b ( V) 2eier Qsrieou
Sjehgseut |
a) S0essreorCrmr Geurdm b) @i &L b
c) ocoumpGL _ d) STDeV Y eeurT 6TIqEET.

The relationship between electric current ( I ) and potential difference ( V' ) is
established by

a) Alexandro Volta b) George Simon Ohm

c) Faraday d) Thomas Alva Edison.
7.  Ueteumeueteuphmier erg). Lﬁ}a‘s:&mrﬁ;g,gg,eéxémm 2DDa ?

a)  your sglieer - b)  emwrs sglise

c)  B&dlaiy edliser d) yUpeagré sdlise.

Which of the following is not electromagnetic in nature ?

a) Alpha rays b) Gamma rays

c) Infrared rays d) UV rays.
8. &g afflubd Geonhs 2ubled 2 _

a) HNO; b) H,SO,

c) HCl d) CH,COOH.

Which of the following is a weak acid ?

a) HNO; b} H,S0,

c) HCl d) CH,COOH.



‘10.

Al

162

13.

14.

urfev srbaelear Coudeurinm @

a) (2CaS0,).H,0 b)
e} €aS0,.2H,0 d)
Chemical formula of Plaster of Paris is

a) (2CaS0,).H,0 ‘ b)
c) CaS0O4.2H,0 d)

8023

CaS0, .H,0
(CaSO,; )2 4 21’120 :

CaSO, .H,0
(CaS0,), -2H,0.

&GeammRerear adler Qequsdleame FaemaibHarer ele GG 2

b)
d)

a) &L &56001e0HMDL

c) 2 eipphHlw & edoresoTmiby

60T GTOTTIDL [T

& GOoT GOOTITIDL|S &60.

Bleaching powder is prepared by passing chlorine through

a) quicklime b) milk of lime
c¢) dry slaked lime d) limestone.
HETGOITY, BT LTHGSILGSDE ? I
a) HC Vbl (S0,

c) HF d) HNO;.
Glass is attacked by

a)  HCl ‘ b) H,SO,

¢) HF : _ ~d) HNO;.
BRGSO GTWED .eeeeeerecerenane p&Hulearme GHHaILESHDE.
a) 22s&myl b) 18 &myLl

c) 24 smgl d) 20 smyl.
The purity of gold is given by ...........ccce..... value.

a) 22 carat b) 18 carat

c) 24 carat d) 20 carat.

ool Garbme Hopsd abs afloslie poL Qupmb 2

b)
d)

a) epefl LHDID G)weTblEwe
c)  @meT whnibd @ﬁé@&ms’u
Photosynthesis proceeds in sequence of

a) light and dark reaction b)
¢) . dark and light reaction : d)
QUsssLoLLgss Qo 2 saiflng
a) CGupmi edlitiydseTemn ~ b)
c) @UsHsb 2 mee d)
Blood platelets help in -

a) Immunity b)
c¢) Blood clotting d)

epeM&Glawe i B
QCRUAETTN

light reaction alone

dark reaction.

UTSHSL 560

smy-oblev gweTur(®.

Gaseous transport

Acid-base balance.
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15. wens &CyrCurGemie eratrestléams

a) 40 b) 44
c) 46- _ . -ad)) A48,
In man. the number of chromosomes is
a) 40 b) 44
c) 46 d) 48.
16. &6 waldr varbasaTet CaitDr®p Yeld Gaswgow S g
a) < Cremd : b) eLGsrsmd
c) eGaramid d) OQaniGarem.

Transfer of pollen grains from the anther of a flower to the stigma of another
flower is known as : '

a) Autogamy s D)l Dichogamy
c) Allogamy d) Herkogamy.
17. ugeyb geteowwbhn CHTLSE aTOSH5H6T(H
iy &IT QT ) b) wGeflur
¢) &Cyrerfl Gaw Crmis d) e en.
Example for non-communicable disease is
a) _Cholera : b) Malaria
, c) Coronary heart disease d) AIDS.
18. GanmflGurudlile shas erein 2 wéslindueuT
- a)  adluBuirdlGriev b) emgrem
c) Dr. erpGessr CamiietGuwesr ~d)  dser.
The father of Homéopathy is. _
a) Hippocrates b) Charaka
¢) Dr. Samuel Hahnemann d) Siddha.
19. galéGafloan Seral@b e B
a) bl b) QLHQu
c) gpefil oy d) ureévse.
-The intensity of sound is measured in ‘
~a) ampere b) decibel
c) light year d) pascal.
20. Sereueniiiy @)eleurn Syp&sLLGEDE
a) $la euemiiiy b Qamflsasi
©)  SepsssTE ety d)  Sedesdss.

Culture of fishes is called _
a) Tissue culture : L b) Vermiculture
c) Social forestry d)  Pisciculture.
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uEg — II / PART - II
(i uetmasT : 10 x 1 = 10) / (Marks: 10 x 1 = 10)

@floy / Note: i) Sjoersg alaimése@nd@b alol wellseeab.
Answer all the questions.
i) eloLsea e OCere oeves e Qampee Sdws
36 euflller E\BEHe0 Geuiedor BIb.
Answer should be in a word or in few words or in one line.

eNuandlphs 2ide Caramaale 2 ser Camefler GuwT wTg 2

Which is the farthest planet from the Sun ?

@efirarsert Quiglles vwesTu@D el = aluren Qr,rs)_u.'n &gl 2

Name the volatile liquid used in refrigerator.

BB Sybneven ety DDeTs LITHNID &,@mfﬂ' erg) 2

Name the device which converts mechanical energy into electrical energy.
SHEONLILITEST ETebI DTy eTedTenT 2 |

What is moderator ?

Sesreumd Coudlelevsaieow Hleope Glgls :

N Siam e—0 0 0

Complete the following cﬁcmical reaction :

Ny + 3Hy == oo

§1QIetorg o gredt glligd CarsalLBSIDg ?

Why is gypsum added in cement ?

SoumTomedlest ereliLBleUs) WTgl ?

What is called Formalin ?

el oL iy &8 ( HbGunéen ) ergement b B 2 @oauTed ClHTe® euTPSns) 2
Which is the only feed of Red bug ( Cimex ) ?

(% aNQRHST (PPEPDITET HeHey 2 Ton THGD CGTPlepI b wrg ?

In which technique an exact copy of the animal to be cloned can be produced ?
QUEs WSS JETILHHE LLSTLEID s®eT WTe) 2

Name the instrument which is used, to measure blood pressure.
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3].

32..

83
34.
35.
. 36.
37
38.
39.
40.
41.

42.

43.

u@g) — III / PART - III
(w8l uestiser : 15 x 2 =30) / (Marks : 15 x2 = 30)
&l [ Note : i) eeeuCuad uSlamearbg alleamésE@nse ol wellssab.
Answer any fifteen questions.
ii) oleir ercoreeT 32 whmid 38 FlucudNhEe SevtgOUTS
oL wefllss Ceaissoi@b. @eualyeo® alamésesd aNmUus
Qe flalihe ( Option ) 2 1 LiL_mg.
Write answers to Question Nos. 32 and 38 compulsorily.
These two questions are not included in the option.

gymeot QL @ W&sD eTesIMITEy eredrenT ?

What is uniform circular motion ?

1 HGaurdlymd Hleom QeresoL ualssiigew 0°C e Slyauwrs wrhHnd CsemeaiiLGib
Qailil Sybhpees SeTsSHs .

How much heat is required to convert 1 kg of ice at 0°C to water at 0°C ?
B @eMireliureiTal LuesTU@ESIDS]. g6t 2

Water is preferred as coolant. Why ?

Quodn oL, wrw Nibub - CamuBsals.

Distinguish between real and virtual images.

W 26 adQyrafliiihamer Blubseaiser wTeme ?

State conditions for total internal reflection.

sollenblidlest @)L se alflaows sanis.

- State Fleming's left hand rule.

BARC W6 2_sfier o pmii&d) 2 coanssr gCaenid mratalens GOUNIHS.
Name any four research reactors located at BARC.

0-1 M HCl seogsedest pH wali eresreor 2

What is the pH value of 0-1 M solution of HCI ?

&EOO1 GBI oL S HUURES S DDISHO eTesTDTcy 6Tebreor 2 :
What is annealing of glass ? : '

urfleverhgalear gGseaibd @B LuaTHamaTsd GHILIIRS.

Give any two important uses of Plaster of Paris.

Qpeveult &IFesotl resTmT e ETETE0T 2 DYGHEST LIWEST WiTg) ?

What is Nessler's reagent ? What is its use ? ;

@y &&svene GTEIDTE 6163160l 2 6pIf T HSHSSHTL[H SBS.

What are amalgams ? Give an example. :

spanend Cerphseileeier adlu alaweard Car@daer wrame 2

a) CH;COOH ; b) CHzCH,CHO

c) C,H OH : d) CH3;COCH,CH,.
Name the functional groups present in the following compounds :
a) - CH3;COOH : b) CH3CH,CHO

¢) C,HLOH A S d) - €HLCOCHICH,.
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53.
54.
55.

56.

7

syl setilamens goausbs Gamiy LLTURSS GueTs. g6t ?

Why soap is not suitable for washing clothes in hard water ?
apemen wGeuflur eresTmTey eTedTeDT 2

What is Cercbral Malaria ? _

grfleos @CrrGurGsmd ubHdu Sn Gy U5

Write short notes on Lampbrush chromosomes.

\q .6T60T.6 . e &sHmard GHUINGS.

© Mention the different variants of DNA.
Qe saflifler Seblieull ULD b LT&hSers G-

Draw a labelled diagram of coconut fruit.

flerar Grrdlunelles LwesTSHel wTemeal ?

What are the uses of Vinca rosea ?

srésey alurgd) eraIDTey ereTen 2

What is meant by diabetes ?

@erésard ghudb gCseubd @@ allaenasmamend s
State any two effects of noise pollution.

Qeumfeursly - Sy GOIIY aleFs.

Write a short note on Vermiwash.

uG&l — IV / PART - IV

(G eser : 8 x 5 =40) / (Marks : 8 x5 =40)
@fluy / Note : i) eeublaun Siflelled @pb e GODHSHE

8023

@)yessr B

e eamenuneug ©silaCsis) @Lnrrgjq;m @ e TéHsE@h&HE

allemLwefiléaeayb.

Answer eight questions by choosing at least lwo questions .

from each Section.
ii) Cgmauiu@b @)L assflé uLbD aors.
Draw diagrams wherever necessary.

mrﬂsq S| / SECTION - A

SiepTL. eurpalds Hyeunseie ugty Epalaewlle LwebLT (& er eﬁleﬁ&,@&,
IExplain the applications of surface tension of liquids in everyday life.
sTOlgTaler 55810150SUD, 28 CEUOLED alssasuDd UL SgIL a1 alané@s.
Explain the principle and working of a camera with diagram.

Lens NeTaasdler QauhuTL Ll UL SGIL &1 allerées.

Explain the working of a dry cell with a diagram.

Ssbem Jerey Blapalbe, .gx{@uea&;qb @ eoetoiey Blapalben 2 efen @m@urr(a&,err

gGaeb mihdlemars gamis.

Give any five differences between nuclear fission and nuclear fusion.

| Turn over



8023 il 8
Jifle) - 4 / SECTION - B

57. gfls, Qugeurer, Ne Qugeame alamaisamen a@da6HaT. oHEbL o alaées.
Explain fast. slow and very slow reactions with examples.
58. grw oflomale @wha Waambhuesse wonWld eblelud ediaurmy
Qupuu@&nal ? :
Explain how Aluminium is obtained from fused alumina by electrolysis process.
59. a) Gamiy aeTpré et 7 :
b) Gariy swrfléE@b Wwepaow alaufl.
a) What are soaps ?

b) Explain the method of preparation of soap.

Hfley - @ / SECTION - C

60. seaumenear UpsCaThDS®mss Claefeure s auerha alauf).
Describe the external morphology of frog with a neat diagram..
61. ©CyrCurGerd tipL Sleow elenésions ewels.
Explai.ﬁ chromosomal aberrations in detail.
62. pad Qedvseiles LWSTUTHS 6 WTemeu ?
What are the applicatious of stem cell ? |
63.  eapsd e[ euetiillearmey Hlenl S@b LW 6T wrene ?
Give an account of the advantages of éocial forestry.
64. greuy LT QuBsssHSlET GHIGCaTeTaar WTemeal 2

What are the aims of plant breeding 2




